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AT AT JTITdr

9R&T 15: 37eldT J9H Ugdl=i- AZ, BY, CX, DV

fased: (A) AZ (B) BY (C) CX (D) DV

3 (D) DV

AT TG Tcdsh JIH & Tgell R GERT &N Teh i 31TeT R GE Y N> i &
AZ->B(A+1)3RYZ+1)->BY

BY >C(B+1)3RZ(Y+1)->CZ

CX->D (C+1)3RY (X+1)->DY
DV->E (D +1)3RW(V+1)->EW
safeT, 33 g (D) DV

uReT 16: fQU 1T 31@RT & FHAg @ S 3feler §, 3§ Ggdlel: RTVX, NPRT, GHJL,
MOQS

fdsed: (A) NPRT (B) GHJL (C) MOQS (D) RTVX

3 (B) GHJL

HHATTS: HHg H Tcdeh 78T o ASCII SISt T AT &
RTVX: R (82) + T (84) + V (86) + X (88) = 340
NPRT: N (78) + P (80) + R (82) + T (84) = 324
GHJL: G (71) + H (72) + J (74) + L (76) = 293

MOQS: M (77) + O (79) + Q (81) + S (83) = 320



Y 3o FAE GHJL (293) &1 $HTAT, 371 & (B) GHJL |

9ReT 17: feT 910 HE&dm oA A 98 JIA 9gdlel, Sit 37609 8- (9, 49), (13, 121), (10,
61), (7, 25)

e (A) (13, 121) (B) (9, 49) (C) (10, 61) (D) (7, 25)

3 (C) (10, 61)

HTUT: Fedieh HEAT JIH I Ygoll H&IT T 991 &
(9, 49): 912 = 81

(13, 121): 1372 = 169

(10, 61): 1072 = 100

(7, 25): 722 = 49

Y 3eldT AT I3 (10, 61) &1 SHIAT, 3 & (C) (10, 61)|

g2 18: Ife frdT Giehfaes ATST & 'ARIHANT' &Y 'BTLLFTA' for@r Srar g, ar 34T
AT H 'HONESTY' fopg yahR for@r Sreer ?

f&ed: (A) IQQIZFX (B) IQQXIZF (C) IQQIXZF (D) IQQIXFZ
3a%: (B) IQQXIZF

AT 'ARIHANT' &t for@el & faIT gT 316X & ASCIl 18 # 1 a7 3118 SFhs
ST IRAT &

A->B (+1)
R->T (+2)
|-> L (+3)

H-> L (+2)
A ->F (+5)

N->T (+3)



T->A(-19)

sdY aE A 'HONESTY' & for@sy & forw oft 33 wfshar &1 3uaier fomar e, fSaa
3aX 8191 (B) IQQXIZF |

92T 19: fRET Hlehfaes 39T H 'NATURAL' & 'MZGFIZO' far@r Srar g1 33T 9mSr &
'CARE' forg YR foI@r ST ?

feed: (A) XZIV (B) XZVI (C) XVZI (D) XIZV
3 (A) XZIV

AT 'NATURAL' &t fo@sr & foIT 318RT & ASCI gt & e A fdad I&am &t
SoTT AT &

N ->M (-1)
A -> Z (+24)
T->G (-19)
U -> F (-20)
R -> 1 (-15)
A -> Z (+24)
L->0 (+1)

SHT g 4 'CARE' &l Toar@et o foIw 8i1 38Y fshar &1 39ier foram sreer, ISad 303
89T (A) XZIV|

AT AT

q&a31mﬁmﬁm@ﬂaaﬁw§3ﬂ?
IGETeF
(A) 128t T 134 erdTedy & & (B) 14T 2T 15dT QraTsdT & o



(C) 134t T 143 ercATscT o 1w (D) 3l H A I e

3X: (A) 1237 2T 134T raTsdT & o

HATT: Fefieeh FIN HT 3T 12T 3R 13 rcrsdr & o g31m 27|

gee 32 HIAYTeT o fohd T H ITH FHT ITedcd H AT ?

e

(A) 73T T (B) 74T HRMTereT

(C) 71aT M (D) 3T & IS Ag!

3T} (B) 7431 G

HATUTA: HRA AT & 7437 HRAT o AN 1A AT T A e H 31T g3

e 33 STAITUTEAT 2011 & AR fAe=1fafld & & foha ToT A T8 A SITaedr &
(AEETF

(A) RafFsa (B) fASIRA

(C) ATMeis (D) 3120 Ue2l

3¢ (A) e

FATHTA: STAIMUTAT 2011 o ITAR FAIFRA ToT A T4 HH FAHET & |
9Re 34 HRA & Hiders & 3 Aier fra g A 8 2

o

(A) =T =T (B) HEr T

(C) FHAT T (D) 318 & IS =TT

3 (A) T T

FHTT: HRAT HiGETT # 3 FATere T Fr & 3iceTd e |
92T 35 HIdolieleh 417 H fAr{afld & & T8 IUH 387F §IF HlA-AT g ?
e




(A) TTSRIC AT 3aTeh (B) #1aTel 3dTh
(C) gl 333k (D) Y I
3T (A) TR AHeT 3T

AT Hrasiieieh &1 H ARAT 3dTeh I H HIH TGl ISR HT Gl Saieh
gl

9o 36 [FeaTaad & O ThgerT TIXUT 'aR—RA’ AgT 87
IGETRF

(A) THTT Ui (B) #FIH

(C) Y&t (D) feefar

31 (D) fecfifar

AT BefiRar ve dFERTT 9T §, FAafh 3177 I [Ahed arkyg 4 gl arel
e

geeT 37 dFERAT T @iat fordat T 2

fasren:

(A) &1 (B) feraeTgish

(C) dvsfEe=it (D) 33t

3N (B) foastgien

AT SFERAT T TIST AR Teclli=il dleT feideigien =¥ @l |
99T 38 STAIUTAT 2011 & Heedy & oy fasiTsieh Iy fohd het STrell § 2
fasre:

(A) 1951 (B) 1961

(C) 1950 (D) 1947

3 (A) 1951



AT STATUTAT 2011 o Heasl H oy [qetrsren a¥ 1951 gl ST g |
9% 39 3TehalX o ATHeT el ohl FATHTIeh Tlcidest hieT-AT & ?

faspe:

(A) ITHITATHAT (B) 3TTSeT ey

(C) ¥F31e (D) $oT & FIg et

3T: (A) AT

THTT: 37ha o ATHeT hTel bl Y2MHTAD FfadcsT 'IThaTTA T ¢l

TesT 40 "I3 2AC Tealcled ¥ hid Jodieed § ?
(A) FGICAT ATl (B) STATER oflel H1E®

(C) SoTdT HTS 9ot (D) 37sGel ITFRIT Wied
30X (C) Toddd 1S Il

THTETST: Y8 QAC HTealclsl 1928 H TeoldT HIS Ieol GaRT sidell H AT fohaT aram
AT| 3 3Tealcle & [hATAT of TR HTfolehl & Reh TaRer ueele fohar 2|

9ReT 41 FAFfT@d & A HlT-A1 HR T 5UH RATO] RUFe & 2
(A) qfot#AT-1 (B) 310817
(C) srfAfeT (D) g

3T (A) QOTAT-1

FHTTT: YIOTAT-1 IR T Igell TRATI] RUere § ST 1969 H TRIAT fohvam ar |
Ig STeldfeleh 3311 foAaTA (S1.03.) garT fassfad fomar aram ar|

5T 42 HIRC & FIATe T fohdt 1T 7 HR T HITHRITCT A3 T Sool@ § 2
(A) -8 (B) 3Togarelr-1

(C) JFTE-2 (D) 1eee-7




3 (B) 3e1ql-1

FHTUTT: R & HIAUTT T eTe-1 7 R T 22 TR AT HT Soolg
gl

9T 43 fhE T & AT ST YfeheT SheAash' (TA.3718.31R Th) & 37TaR
crmmomﬁmﬂafrmmmﬁmm%?

(A) FERTSE (B) IfasT STTel

(C) AfAHTS (D) TR F&2r
3 (D) 3T T

HHTHTST: FAeToT SEEICYRIeTel LTehal Shaaeh (NIRF) & 31JHR 3o Y& # Fad 37fereh
HEIfaeTTerT § S 94#H 100 7 enfAc gla 81

93T 44 TSAT ITAR AT HTHATST (FT) He TRFH §31T 2
(A) 2012 (B) 2013

(C) 2014 (D) 2015

3 (B) 2013

HATYTT: TS 3Tada A& 3fRAmeT (¥471) 2013 H YRFH 3 AT| $HA AL
maumﬁmﬁma?mﬁmsﬂ?mmﬁwm%l

92T 45 3= 8T & Hegdl H AR H 2014-15 H Hehel T2 & FIT 872
(A) 243 (B) 25:3

(C) 23.3 (D) 23.5

3W: (C) 23.3

FHTTT: HRA H 2014-15 H 3= TAT H Hehel TA2 & 23.3% AT
TaT 46 STaT0T TUTAIATS &3 AT TITSeT (HTeh) Sl ATl &-

(A) STehT (ST CITCRT) (B) hTSHTEG (A4Tel)

(C) SFaATATETE (fhEcleT) (D) 3uderc 7 W IS AT




3 (A) STHT (STTeT1C2)

AT GfeTor URITS &t HgdeT HaTool (F1eh) T HTATAT &Il Seleel H
a8l

TR 47 T TUT HAT X o Foaed H fArafef@a A A FAm TLr e 2

(A) TE FeT HIRIT X ¢ (B) I AT, TAshar qT 391er 3 1T See
(C) TE 3T9cTeT X & (D) 3ugFd Tl

3 (D) 3uderd gt

ATUT: TE] AT AT Y (GST) Teh o Hareid aX g fora# foAor, fasa 3ik
39T deh St gt gfshare enfae g

e 4T O AT 872

(A) g I8 &X ¢ oI R RS doh T ArHAT IR 90T &

(B) & I W & T8 HRAT R1d deh 319eT T (HdeFehol) IX SMICH &

(C) TE gl &< & ST SATadTiae deb 379eT KUT & ToIv & Tror s o 9l
(D) 3UYFA H § HIg ALl

3X: (A) I8 98 &I & oif RO ReTd d T ATHAT TR 9Tl &

FATTT: Y9 aX 98 &Y & O W AR Rad S &t 1 HoT uer &aar &1 =9
Tl ot GarT faei HhaoT & FHY F o ST B

e 49 AFATITET 7 @ fohdr FeT (eé)) 1 T 3R & HIFHISS o HROTEIAT &

?

(A) o1 72T (fAd) (B) oledrse Har ([Red)
(C) =rell fAedT (D) Telfoger fAeer

3 (B) elerse HaT ()

HHATHTA: ST FHAT H AT oh FHTSS o ShRUT SHeRT LT Te Biell & |




I C IR )

9% 51. TEATEAH 3UTTA T 39ITIT &I &-

A) SATIGTR S deheiiehT & (B) RISTOT deheiieh
C) &7&y & # (D) AR et &
3N (C) e3¢y e &

HATYT: TEATEIH IURTA Ueh fR&T0T dehelieh & e e fRuew & 39ier & @
ST g1 391 3uAter et & faffea arat & #Aregs & 6T Yot wiet &
forar ST &, 519 foh Seeie, ST icthider, SadfFed Careqery 3nfe|

Apologies for the oversight. Here are the questions along with the options and
their respective answers and explanations in Hindi:

e 61. e Tohdll T&T0T A g B IaAeh YAEThI GaRT STRYRET SITHa & §lG
AT 37 9Tcd adT &, ol g 90&ToT §-

(A) TEGfesS

(B) d9

(C) Rreara=ha

D) $oTH & g 61
3 (B) aw

FHATUTST: d9 GUETOT 3 37 3feler-37eTeT GIaTehl GaRT ST Sl & dTdsjg O1F &
TS 31 & FATAT S &1 g TNATOT FAaa=RIaT &7 327 e &1

UaT 62. Ig YI&TUT ST SHTFA TSI hlel o TAT TohET Teh AT 31Tk 81T 3 3aTchr
a3t vd ATt garar g, ag &-



(A) ST ggreqoT

(B) fAcTsITcA= qdiator
(C) TEfASS T&ToT
(D) HIfEes gdregor
3% (A) BT gveTor

HATIT: 3T IRI&T0T eFTFd ahr 3T 3R fEGRM3iT & SA/adr § 3R 3Aehr [aAwar3it
3R HfAT I Tase AT &1 Tg RLT0T ITFT & Tk 8T F &TAAT3AT hl ST hedT
gl

TaT 63. Aax 3R oTuX &T 37 g-
(A) TedRer 3R 18T aTdTaRoT
(B) a7 3R A==
(C) fASTST 3R a1y 3mehfay

(D) ARITIshA 3R TRV

3 (C) fAsTTeT 3R sy 3mmepfar

U2 64. a8 ol A&7 dg 8IdT & oll-
(A) BTl & farg & s T &
(B) TR =TT Wl §
(C) 3= iF aaT
(D) FafAd g FrA T §



3 (A) ST & AP H A oIaT §

95T 65. AIHN T AloTallefHY FRAGT § 31qd-
(A) 3THIFAT
(B) gt fo¥aer
(C) 311 &1 |
(D) =T

3T (B) Yait foaer

YReT 66. R & YUH Yell [aeTerd T g31T-
(A) 1969 &
(B) 1979 H
(C) 1989
(D) 1999 &
3a%: (B) 1979 H
et 67. BTl & fafaer sTaa’ faefaa et & forw a1 e anfee?
(A) TTHAT3T T Hgcd U HIYOT &3t
(B) T&TH T I 3TE0T &ar
(C) forelt faAW 7T o faehra & T Bt &l YceT aat o forw fAder &ar
(D) 3uderc gafr

eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee



3 (C) e AW &TH7aT & 9o & foIT S131 Y Yo ey & foIT [Ader &ar

W%_cfro-
T2t 81 [AFAToIiad & 936t fohd bR T e §2

fashed: (A) IcHH (B) desid (C) ¢eret (D) fagerst

3T (B) dcHa
FASERROT: "G 2Asg; 'TCHT' &, FlToh TE TEP & 3cdeT G T

U1 82 hisI-AT 2eg dR T YITIATT el g2 fased: (A) IR (B) 90T (C) dR (D)
IR

3dY: (A) IR

TISEIUT; IR Qreg 'dY’ T GIATIARIT o761 g, STdfeh 3T Ahed (J10T, dR, aTRT)
' & gIrarh g

9ReT 83 "B W HIT ToleAT I 31 § fahed: (A) TTeT T (B) SIST AT (C)
9T I§HT HSC Gall (D) ARAT

37X (C) UTH T@HhT ST Sl

TISEHIOT: "SIl TR FHIT Telelr' ol Y § Tl &l avve ST forl 3T O #1041
gl

R 84 'Cafel T ITUROT TUTT §-

(A) TT (B) &xd (C) dTeled (D) 343 & His oTaT
3W: (C) drerey

FISEFIT: 'eafel’ T 3TIROT TUTH 'dTeled’ gl g
g%+ 85 Usg FHIfIT & ?

e

(A) g2 (B) Ram



(C) Rwe, (D) FERT

3@ (B) AR

TATENT: "RAR" Qree; TfeaT |

g7 86 'HaT H Shld-aT THAT & ?
e

(A) &1 (B) 3=t

(C) FHURF (D) ALET

3 (C) FHYRYT

THTENT: 'R T TART 'FIURT ¢
gesT 88 foieaifaif@a & TEY adeir § fasheq: (A) 3iderd (B) 3deTd (C) eadTd (D)
SoTH W g +Tel

3 (B) HadTd

FHTT FeT aclel) 3T gl gl

9% 89 ShieT-AT WUse; HIdATHS HT w181 &2 Tdshod: (A) SIS (B) SX1$ (C) #I3T$ (D)
3T

3 (B) TS
AT 'SRTS' HTaareeh Gl w161 & |

319 ¥ SR O A 71 4 A & R
(A) aftrgme (B) Megaaras

(C) FEBTHEF (D) TIEHTH

3 (D) FéEHTH

AT TG’ T & g 3 o 31e) & MU R 8 &




AT 33T
Question 91:

Arrange the sentences in the correct order:

1. As a result Raman fell asleep.

2. Thus Raman expressed his view about the poems.
3. So he insisted that Raman listens to his poems.

4. A poet wanted to inspire Raman.

The correct order of the sentences will be: (A) 3, 2, 1, 4
B)1,4,2,3
(C)1,2,3,4
(D)4, 3,1,2

Solution:
To arrange these sentences logically:

1. The poet's intention comes first: 4. A poet wanted to inspire Raman.

2. Because he wanted to inspire Raman, he insisted that Raman listens: 3.
So he insisted that Raman listens to his poems.

3. Listening to the poems led to a result: 1. As a result Raman fell asleep.

4. After falling asleep, Raman expressed his view: 2. Thus Raman
expressed his view about the poems.

So, the correct order is:

(D)4,3,1,2

Question 92:

Choose the correct word to complete the sentence:
"The report is badly written ____is inaccurate."

(A) Moreover
(B) Finally



(C) However
(D) Meanwhile

Solution:

We need to choose a word that connects two related problems with the report: its
bad writing and inaccuracy. The correct word should show that both issues are
part of the same problem.

(A) Moreover - suggests an additional point, suitable here.

(B) Finally - indicates a conclusion, not suitable.

(C) However - suggests a contrast, not suitable.

(D) Meanwhile - suggests something happening at the same time, not suitable.
So, the correct word is:

(A) Moreover

Putting it in the sentence:

"The report is badly written moreover is inaccurate."

Passage:

Earthquakes are the sudden shock and shaking of the earth's surface. They can
be felt over large geographical areas for brief moments of time. There are nearly
20 tectonic plates that are along the earth's surface that continuously move past
each other. Huge rocks are formed at the edges of the plates. The shifting of
these rocks causes earthquakes.

Questions and Answers:
Question 93:
Earthquake occurs when-

(A) tectonic plates move
(B) rocks at the edges of tectonic plates move



(C) tectonic plates enlarge or shrink
(D) All the above

Solution:

Based on the passage, earthquakes occur when the huge rocks at the edges of
tectonic plates move due to the shifting of these rocks.

The correct answer is: (B) rocks at the edges of tectonic plates move
Question 94:
Earthquake occurs-

(A
(B
(C
(D

sometimes in a wide area

in a small area

sometimes in a small area, sometimes in a wide area
always in a wide area

N N S N

Solution:

The passage states that earthquakes can be felt over large geographical areas
for brief moments, which implies that they can occur in various areas, not always
wide.

The correct answer is: (C) sometimes in a small area, sometimes in a wide
area

Question 95:
During an earthquake the earth shakes continuously for-

(A) A few days

(B) Some seconds
(C) Few hours

(D) About one month

Solution:

The passage mentions that earthquakes are felt for brief moments of time.



The correct answer is: (B) Some seconds
Question 96:
The opposite of proportionate is-

(A
(B
(C
(D

misproportionate
disproportionate
aproportionate
unproportionate

N N S N

Solution:

The correct opposite of proportionate is disproportionate.

The correct answer is: (B) disproportionate



